AHC Computer Assistant

Topic:- CA_GI_21DEC_S1

1) Unscramble the letters and find the odd one out :

(1) HWLEA (2) KRSHA (3) PHLDION (4) HRSEO
fershed o FUTl b1 YRR SHA sl 14 hifeg |
(1) HWLEA (2) KRSHA (3) PHLDION (4) HRSEO

[Question ID = 1][Question Description = 101_CA1_21Dec_Set1_Shift1_Q1]
1. 4 [Option ID = 4]
2. 3 [Option ID = 3]
3. 2 [Option ID = 2]
4. 1 [Option ID = 1]

2)
In the series given below, how many 8s are there which are exactly divisible by the preceding
number ?

38248568274283658497288542
(1) 4 2) 5 (3) 6 4) 3
I § € gaen |, T foRad ‘87 S0 f s1oeht ydadt gen 9 faasa 82
38248568274283658497288542
(1) 4 (2) > 3) 6 (4) 3
[Question ID = 2][Question Description = 102_CA1_21Dec_Set1_Shift1_Q2]
1. 1 [Option ID = 5]
2. 2 [Option ID = 6]

3. 3 [Option ID = 7]
4. 4 [Option ID = 8]

3) If the day before yesterday was Wednesday then when will it be Sunday ?

(1) Today (2) Tomorrow

(3) Three days after today (4) Day after tomorrow
e Wi FHER o, 91 WTaR & 8r1 2

(1) &= (2) SN aI HA

(3) & ¥ oA feA @ (4) wEi

[Question ID = 3][Question Description = 103_CA1_21Dec_Set1_Shift1_Q3]
1. 1 [Option ID = 9]

2. 2 [Option ID = 10]

3. 3 [Option ID = 11]

4. 4 [Option ID = 12]

4)



Which one of the following words cannot be formed by using the letters of the word
COLLABORATE ?

(1) COLLAR (2) ABORT (3) LABOR (4) RATTLE
fr=fafea § @ ®F-91 958 COLLABORATE 918 & =0if o 3yant & fafida =&ie e 2 2
(1) COLLAR (2) ABORT (3) LABOR (4) RATTLE

[Question ID = 4][Question Description = 104_CA1_21Dec_Set1_Shift1_Q4]
1. 3 [Option ID = 15]
2. 2 [Option ID = 14]
3. 1 [Option ID = 13]
4. 4 [Option ID = 16]

5;\ man buys an article for ¥ 27.50 and sells it for ¥ 28.60. Find his gain percent :

(1) 1% 2) 2% (3) 3% (4) 4%

T AT et a%g i € 27.50 W BRIGAl § SR T 28.60 H S=aT &1 3Tk @Y 1 Yfawrd 1 hifer |
(1) 1% @ 2% 3) 3% @) 4%

[Question ID = 5][Question Description = 105_CA1_21Dec_Set1_Shift1_Q5]
1. 1 [Option ID = 17]
2. 2 [Option ID = 18]
3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

6) Find the odd one out

(1) 144 2) 324 (3) 254 (4) 484
U i TG Hiferd |
(1) 144 2) 324 (3) 254 (4) 484

[Question ID = 6][Question Description = 106_CA1_21Dec_Set1_Shift1_Q6]
1. 1 [Option ID = 21]
2. 2 [Option ID = 22]
3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

”) Find the correct alternative for the question mark (?) :
3,6,520,7,42,9, 2 .
(1) 54 2) 60 (3) 66 4) 72
YA g/ =8 (?) 1 3fed fasked 9@ wifse
3,6,5 20,7429, _2?

(1) 54 2) 60 (3) 66 @) 72

[Question ID = 7][Question Description = 107_CA1_21Dec_Set1_Shift1_Q7]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]
3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

8)



Choose the figure which is different from the rest :

o €] @ | o

T | =1 steRfa =1 =om wifse

o (4 o |\ ©

[Question ID = 8][Question Description = 108_CA1_21Dec_Set1_Shift1_Q8]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]




%) Which answer image completes the pattern shown in the question image ?

P

/é\::: !Q

@

- @
5 B

(3) Ilb@‘ (4)

Il I SARfd 9 SAH{TAl o qfaey i U R ?

//é\i:: !Q; )

[Question ID = 9][Question Description = 109_CA1_21Dec_Set1_Shift1_Q9]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]



10 Find the missing term :

9 4 11

8 3 3

289 ? 196
(1) 43 (2) 49 (3) 134 4) 143
T T T BT |

9 4 11

8 3 3

289 ? 196
(1) 43 (2) 49 (3) 134 4) 143

[Question ID = 10][Question Description = 110_CA1_21Dec_Set1_Shift1_Q10]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11)
During summer vacation, 20 friends from a hostel wrote letters to each other. The total

number of letters written was :
(1) 20 (2) 400 (3) 200 (4) 380
Tl - el ok SIH, fRE SEE™ & 20 % H | Yo | Uh-gu ol 9F fad | ford T oSl o6l g
T ot ?
(1) 20 (2) 400 (3) 200 (4) 380
[Question ID = 11][Question Description = 111_CA1_21Dec_Set1_Shift1_Q11]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]

3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12)
Milk contains 5% water. What quantity of pure milk should be added to 10 litres of milk to

reduce water to 2% ?

(1) 5 litres (2) 10 litres (3) 15 litres (4) 20 litres
U H 5% S B 10 wiex g H ferat wen # g gy faemn s =nfen foF Sie 2% w e ?
(1) 5 @it (2) 10 @i (3) 15 @ (4) 20 @

[Question ID = 12][Question Description = 112_CA1_21Dec_Set1_Shift1_Q12]



1 [Option ID = 45]
2 [Option ID = 46]
3 [Option ID = 47]
4 [Option ID = 48]

AN wnN =

13 Find the number of triangles in the given figure :

(1) 10 @) 12 3) 14 4) 16
& E arrRfa B il s G 7 e

(1) 10 @) 12 (3) 14 4) 16

[Question ID = 13][Question Description = 113_CA1_21Dec_Set1_Shift1_Q13]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14)
A manufacturer wants to earn 25% profit on a shirt that cost T 260. How much should he
charge ?
(1) 360 (2) 375 (3) 325 (4) 350

T FEfdr 260 TIT HIHT ATEl TF I W 25% 1 A1 9T F3AT =redl & | df 38 39 I & fohad §
=1 Aty ?
(1) 360 (2) 375 (3) 325 (4) 350

[Question ID = 14][Question Description = 114_CA1_21Dec_Set1_Shift1_Q14]

1. 1 [Option ID = 53]

2. 2 [Option ID = 54]

3. 3 [Option ID = 55]
4. 4 [Option ID = 56]



15) What is 15% of 34 ?

(1) 4.10 (2) 3.10 (3) 5.10 4) 2.10
34 %1 15% 1 & ?
(1) 4.10 (2) 3.10 (3) 5.10 (4) 2.10

[Question ID = 15][Question Description = 115_CA1_21Dec_Set1_Shift1_Q15]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16)
Rima obtained 65, 67, 76, 82 and 85 out of 100 in different subjects. What will be the
average 7

(1) 70 (2) 85 (3) 80 4) 75
T = fafs= fasi §, 100 o 9 65, 67, 76, 82 T2 85 3k 21fsla fohu | 3u& 2iq ofe =1 &1 2
(1) 70 2) 85 (3) 80 4) 75

[Question ID = 16][Question Description = 116_CA1_21Dec_Set1_Shift1_Q16]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]
3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

7 In terms of percentage profit, which among the following is the best transaction ?

(1) Cost price = 36, profit = 17 (2) Cost price = 40, profit =19
(3) Cost price = 50, profit = 24 (4) Cost price = 60, profit = 29
e wfasr & gfteskm 4, fefafea § 9 wF-a1 die gafom 22

(1) P H&d = 36, @9 = 17 (2) TP Hed = 40, &9 =19
(3) TP Hed = 50, &4 = 24 (4) P Hed = 60, <Y = 29

[Question ID = 17][Question Description = 117_CA1_21Dec_Set1_Shift1_Q17]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18)

How many pairs of letters are there in the word CLEARED, each of which has as many
letters between them as in the English alphabet?
(1) 1 2) 2 3) 3 (4) 4
CLEARED Wisg # € 31efi % W% foras g9 |, o o= 3a9 o1er €, fSaq =6t 3% =it iish
ofgren | & ?
oy 1 (2) 2 (3) 2 4) 4

[Question ID = 18][Question Description = 118_CA1_21Dec_Set1_Shift1_Q18]

1. 1 [Option ID = 69]

2. 2 [Option ID = 70]

3. 3 [Option ID = 71]
4. 4 [Option ID = 72]



19)
If FRIEND is coded as HUMJTK, how can WANDLE be written in that code ?

(1) XEQJQM 2) XCQHQK (3) YDRIRL (4)  YSJFME
7fg FRIEND &1 %1 HUMJTK & d WANDLE %! 39 %ig | %4 foaman smem ?

(1)  XEQJQM (2) XCQHQK (3) YDRIRL (4)  YSJFME
[Question ID = 19][Question Description = 119_CA1_21Dec_Set1_Shift1_Q19]

1. 1 [Option ID = 73]

2. 2 [Option ID = 74]

3. 3 [Option ID = 75]

4. 4 [Option ID = 76]

20)

Pramod walked 50 metres towards the west. He then turned to the left and walked 25
metres. He turned left again and walked 100 metres. Finally he turned to the right at an
angle of 45°. Which direction is he facing now ?

(1) North West (2) South West (3) South East (4) North East

yHIg 50 HieX aftem & oiX =en| R g el gee 25 e 9| 9% g & ge 3
100 X Fefl | 3idd: 98 T AR 45° HI0 T TST1 379 391 =a0 oy fewm & g7

(1) 3@ °fE=d (2) =fero afvem (3) <fam gd (4) SR Yd
[Question ID = 20][Question Description = 120_CA1_21Dec_Set1_Shift1_Q20]
1. 1 [Option ID = 77]

2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21) Choose the missing term out of the given alternatives ?
B4F, E9N, H16X, ?

(1) 125G (2) K25] (3) J25H 4) L25G
feu wru foredi § | 9@ U8 &1 =37 whife |
B4F, E9N, H16X, ?
(1) 125G (2) K25] (3) J25H 4) 125G
[Question ID = 21][Question Description = 121_CA1_21Dec_Set1_Shift1_Q21]
1. 1 [Option ID = 81]

2. 2 [Option ID = 82]
3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

22)

Select the option that is related to the third term in the same way as the second term is
related to the first term.

DEFG : NJPL : : JKLM : ?

(1) OUQW (2) SOUQ (3) TPVR (4) PVRX
% fahed e i e ug & 34 yor geiftd ¢ fre yor guu 1 vgd ug | Hefud 7
DEFG : NJPL : : JKLM : ?

(1) OUQW (2) SOUQ (3) TPVR (4) PVRX



[Question ID = 22][Question Description = 122_CA1_21Dec_Set1_Shift1_Q22]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23) Find the missing number.

8 4 11
6 |110| 7 8 |80] 12 7121 4
9 4 9
(1) 110 2) 100 (3) 90 (4) 107
AT T G HITAT |
8 4 11
6 |110| 7 8 | 80| 12 7| 2| 4
9 4 9
(1) 110 (2) 100 (3) 90 (4) 107

[Question ID = 23][Question Description = 123_CA1_21Dec_Set1_Shift1_Q23]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24} 'Which term will replace the question mark (?) in the series ?
JOG, MR], PUM, SXP, 2

(1) UBT 2) TZW 3) TYR (4) VAS
FHF-H1 US T & GEATEh [5G (?) T €A &AM 2
JOG, MR], PUM, SXP, __?
(1) UBT 2) TZW 3) TYR (4) VAS
[Question ID = 24][Question Description = 124_CA1_21Dec_Set1_Shift1_Q24]
1. 1 [Option ID = 93]
2. 2 [Option ID = 94]

3. 3 [Option ID = 95]
4. 4 [Option ID = 96]



25) Find the odd one out.
7,22, 69, 212, 649, 1938

(1) 22 2) 69 3) 212 4) 649
ST 1 BT :

7,22, 69, 212, 649, 1938

(1) 22 2) 69 3) 212 4) 649

[Question ID = 25][Question Description = 125_CA1_21Dec_Set1_Shift1_Q25]
1. 1 [Option ID = 97]

2. 2 [Option ID = 98]

3. 3 [Option ID = 99]

4. 4 [Option ID = 100]

Topic:- CA_COMP_21DEC_S1

1

‘)Nhat was the name of the first computer ?

(1) UNIVAC (2) ENIAC (3) ABC (4) MACINTOSH
gl e T A 1 412

(1) UNIVAC (2) ENIAC (3) ABC (4) MACINTOSH

[Question ID = 26][Question Description = 126_CA1_21Dec_Set1_Shift1_Q26]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

2) Processor is mounted on :
(1) Motherboard (2) Keyboard (3) ROM (4) RAM

TR TR ARG T < 21
(1) WeEE (2) wHEE (3) ROM (4) RAM

[Question ID = 27][Question Description = 127_CA1_21Dec_Set1_Shift1_Q27]
1. 1 [Option ID = 105]
2. 2 [Option ID = 106]
3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

3) Convert the decimal number 81 to its binary equivalent :

(1) 1011001 (2) 1101001 (3) 1001001 (4) 1010001
<faae Hem 81 1 39 T (fgsnurd) gaes 1§ o5 |
(1) 1011001 (2) 1101001 (3) 1001001 (4) 1010001

[Question ID = 28][Question Description = 128_CA1_21Dec_Set1_Shift1_Q28]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]



4 A plug and play storage device that simply plugs in the port of a computer is :

(1) Flash drive (2) Compact disk

(3) Hard disk (4) Digital Versatile Disk
ﬁplugﬁp]ay%@%@%%%ﬁﬁmﬁwmgl
(1) w9 2Ed (2) iR fewh

3) TE few=r (4) fefsea adesa fewn

[Question ID = 29][Question Description = 129_CA1_21Dec_Set1_Shift1_Q29]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]
3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

5)
A term that refers to the way in which the nodes of a network are linked together ?

(1) Network (2) Topology (3) Connection (4) Interconnectivity
g ve S T 35 gl =i guiar € f5re U Aead & Aed mE A 2 A E 2

(1) ek (2) st (3) HIRM (4) STRATaRTEET

[Question ID = 30][Question Description = 130_CA1_21Dec_Set1_Shift1_Q30]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

6)

Which of the following is not a Search Engine ?

(1) Bing (2) Google (3) Netscape (4) Altavista
fr=rfafea § 9 <9 T 99 599 181 § 2

(1) fam (2) T (3) TeThY (4) eI

[Question ID = 31][Question Description = 131_CA1_21Dec_Set1_Shift1_Q31]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]



7). Which of the following is the correct full-form of CD-ROM ?
(1) Compact disc - read of memory
(2) Compact disc - read on memory
(3) Compact disc - read only memory
(4) Compact drum - read open memory
frefafed § I CD-ROM &1 W& goied 01 § 2
(1) R fewr - e e 9ar
(2) IR fewn - e 3F JE
3) R fewk - e el AN
(4) R ferk - O oim aud
[Question ID = 32][Question Description = 132_CA1_21Dec_Set1_Shift1_Q32]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]

3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

8) Which shortcut key is used to search for a file or a folder in a computer ?

(1) F2 2) F3 (3) F1 4) F5
Teh HP | 1S Gkt 71 Biesk ged & fay fm wiidae it st w3 fman < &2
(1) F2 2) F3 (3) F1 4) F5

[Question ID = 33][Question Description = 133_CA1_21Dec_Set1_Shift1_Q33]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

%) In the context of computer terminology, ISP stands for

(I) Intranet Service Pointer (2) Internet Service Process
(3) Internet Service Provider (4) Internet Standard Protocol
FrER YgEe & Hed H ISP "7 © |

(1) Intranet Service Pointer (2) Internet Service Process
(3) Internet Service Provider (4) Internet Standard Protocol

[Question ID = 34][Question Description = 134_CA1_21Dec_Set1_Shift1_Q34]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]



10 The input device most commonly used to enter text would be the

(1) Bar Code Reader (2) Microphone

(3) Keyboard (4) Tag reader Bar Code
wge feamd % vage w ad w0 ¥ A g s w2
(1) dERE et (2) HIZHITA

(3) wEE (4) 20 TS AHE

[Question ID = 35][Question Description = 135_CA1_21Dec_Set1_Shift1_Q35]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

11)
Which of these is not a way to input information into a computer ?

(1) OMR (2) MICR (3) Printer (4) Keyboard
frefefea § § @m, R Soger § gemstl & a9 &1 us 9eE @4 82
(1) S THIR 2) wHIAEHLHAR. (3) et (4) HiEre

[Question ID = 36][Question Description = 136_CA1_21Dec_Set1_Shift1_Q36]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

12) Which among the following is least likely to be of security/privacy risk ?

(1) Phishing (2) Virus (3) Hacking (4) Spam
frefafes § 9 foad, =9 9 9 geen/ fsh Sifew 29 =51 Sy 2 2
(1) fisfem (2) @TRE (3) & 4) T

[Question ID = 37][Question Description = 137_CA1_21Dec_Set1_Shift1_Q37]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

1: general term used to refer to virus, worms etc. is :

(I) Free ware (2) Spy ware (3) Script ware (4) Malware
ArPRE a1 371 1 Hed 1 % T Uged 1 aTen M U ©

(1) i == (2) FE oW (3) e AW (4) W AW

[Question ID = 38][Question Description = 138_CA1_21Dec_Set1_Shift1_Q38]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]



1) What is the full form of SQL ?

(1) Storage Query Link (2) Structured Query Language
(3) Standard Query Linkage (4) Standard Query Language
SQL =l guf &9 1 € ?

(1) Storage Query Link (2) Structured Query Language
(3) Standard Query Linkage (4) Standard Query Language

[Question ID = 39][Question Description = 139_CA1_21Dec_Set1_Shift1_Q39]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

15 A web site’s main page is called its :

(1) Home page (2) Browser page
(3) Search page (4) Bookmark
T RS FH JBI-JS3 FHEA © :

(1) EHUS (2) TSSR U

(3) U (4) FFH

[Question ID = 40][Question Description = 140_CA1_21Dec_Set1_Shift1_Q40]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

16)
Which of the following retains the information it is storing when the power to the computer
is turned off ?
(1) CPU (2) RAM (3) DIMM (4) ROM

farstefl @i 31 W FrR & fFefafed § 9 6 o g/ Sufed 1 SR arelt SHER Rl s
@7 ?
(1) CPU (2) RAM (3) DIMM (4) ROM

[Question ID = 41][Question Description = 141_CA1_21Dec_Set1_Shift1_Q41]

1. 1 [Option ID = 161]

2. 2 [Option ID = 162]

3. 3 [Option ID = 163]

4. 4 [Option ID = 164]

17)
Which of the following is not a fonts style ?

(1) Bold (2) Italic (3) Superscript (4) Regular
frefafea 9 | & ©F Wie 1 YHFR T8 © 7
(1) Bold (2) Italic (3) Superscript (4) Regular

[Question ID = 42][Question Description = 142_CA1_21Dec_Set1_Shift1_Q42]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]



4. 4 [Option ID = 168]

18)
A person who used his/her expertise to gain access to other people’s computers to get
information illegally or do damage is a

(1) Hacker (2) Analyst

(3) Instant Messenger (4) Programmer

e =fed formm, srfuga w9 @ o aifd 9™ & 3299 A, 1ot ger 1 SvEn Rt o= safe &
FHoER I gEAsti %1 U w4 & foau e ) a7 7

(1) @& (2) TMfaR

(3) T HESK (4) HHFR

[Question ID = 43][Question Description = 143_CA1_21Dec_Set1_Shift1_Q43]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]

19)

Which of the following was the first browser to have a graphical user interface ?

(1) Erwise (2) Mosaic (3) Safari (4) Internet Explorer
frefafed § 9 ®F Mt goR Sty aTel aa STSsK © 2

(1) U™ (2) S (3) W (4) TR THRATAR

[Question ID = 44][Question Description = 144_CA1_21Dec_Set1_Shift1_Q44]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]
3. 3 [Option ID = 175]
4. 4 [Option ID = 176]

2Bne Tera Bytes is equal to :

(1) 1024 MB (2) 1024 KB (3) 1024 Bytes (4) 1024 GB
B I HEH IUged ¥

(1) 1024 ©H = (2) 1024 & it (3) 1024 =T3ZH (4) 1024 Sf.=i

[Question ID = 45][Question Description = 145_CA1_21Dec_Set1_Shift1_Q45]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

21 Which of these key combination’s will open the Start Menu in Windows ?

(1) Ctel + Alt (2) Ctrl + F4 (3) Ctrl + Esc 4) Alt+S
frefafad & @ - Harsm, fFSs (Windows) H W= 5 &1 @ien ?
(1) Curl + Alt (2) Ctrl + F4 (3) Cutrl + Esc (4) Alt+S

[Question ID = 46][Question Description = 146_CA1_21Dec_Set1_Shift1_Q46]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]



3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

22)
Which menu option in MS Word contains the Ruler option ?
(1) Insert Menu (2) Edit Menu (3) File Menu (4) View Menu

MS Word &1 H 91 8= 3119, Ruler QM 1 Tl § ?

(1) =9 2) ufez Ay (3) whIEE H 4) =]

[Question ID = 47][Question Description = 147_CA1_21Dec_Set1_Shift1_Q47]
1 [Option ID = 185]
2 [Option ID = 186]
3 [Option ID = 187]
4 [Option ID = 188]

A WN =

Topic:- CA_ENG_21DEC_S1

D Fill in the blank with the correct option :
The students all passed the exam, so very happy !
(1) they (2) their (3) they're (4) there

[Question ID = 48][Question Description = 148_CA1_21Dec_Set1_Shift1_Q48]
1 [Option ID = 189]
2 [Option ID = 190]
3 [Option ID = 191]
4 [Option ID = 192]

A wnN =

2) Choose the correctly spelled word :
(I) Assasination (2) Asassination
(3) Assassination (4) Assasinnation

[Question ID = 49][Question Description = 149_CA1_21Dec_Set1_Shift1_Q49]
1 [Option ID = 193]
2 [Option ID = 194]
3 [Option ID = 195]
4 [Option ID = 196]

AN wnN =

3)
Choose from the options, the correct antonym of the given word :
“Candour”

(1) Simple (2) Evasiveness (3) Forthrightness (4) Freedom

[Question ID = 50][Question Description = 150_CA1_21Dec_Set1_Shift1_Q50]
1 [Option ID = 197]
2 [Option ID = 198]
3 [Option ID = 199]
4 [Option ID = 200]

A wWN =

4)

Fill in the blank with appropriate tense form of the word given in the bracket :

When I was in Mumbai, I (visit) Gateway of India, Juhu Beach and Marine Drive.
(1) have visited (2) wvisited (3) wvisit (4) was visited

[Question ID = 51][Question Description = 151_CA1_21Dec_Set1_Shift1_Q51]
1. 1 [Option ID = 201]



2. 2 [Option ID = 202]
3. 3 [Option ID = 203]
4. 4 [Option ID = 204]

5)
Identify the part of speech underlined in the following sentence.

They arrived soon after.
(1) Preposition (2) Adjective (3) Adverb (4) Verb

[Question ID = 52][Question Description = 152_CA1_21Dec_Set1_Shift1_Q52]
1 [Option ID = 205]
2 [Option ID = 206]
3 [Option ID = 207]
4 [Option ID = 208]

AN wnN =

6)
Choose the correct alternative for the underlined part of the given sentence. In case no
improvement is needed, choose ‘No improvement’.

She is better than anybody in the class.
(1) anybody else (2) somebody (3) any (4) No improvement

[Question ID = 53][Question Description = 153_CA1_21Dec_Set1_Shift1_Q53]
1 [Option ID = 209]
2 [Option ID = 210]
3 [Option ID = 211]
4 [Option ID = 212]

A wnN =

7)
In the given question, find out which part of the sentences (I/I1/1II/IV) has an error. Choose
the correct option accordingly :
The teacher let the boy off /with a warning/though she was/convinced with his guilt.
I 11 11 IV

1) 1 @) I (3) I 4) IV

[Question ID = 54][Question Description = 154_CA1_21Dec_Set1_Shift1_Q54]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]
3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

8) Choose the correctly spelt word from the following :

(1) Blasfamous (2) Blasfemous
(3) Blasphemous (4) Blaspheomous

[Question ID = 55][Question Description = 155_CA1_21Dec_Set1_Shift1_Q55]
1 [Option ID = 217]
2 [Option ID = 218]
3 [Option ID = 219]
4 [Option ID = 220]

AN wnN =

9)
Complete the sentence using the appropriate option :

“The college library is with good books and latest journals”.
(1) stored (2) equipped (3) supplied (4) embarked



[Question ID = 56][Question Description = 156_CA1_21Dec_Set1_Shift1_Q56]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

10)
Choose the correct alternative for the underlined part of the given sentence. In case no
improvement is needed, choose ‘No improvement’.

“She is both cleverer and intelligent than her sister”.
(1) more intelligent (2) lessintelligent
(3) little intelligent (4) No improvement

[Question ID = 57][Question Description = 157_CA1_21Dec_Set1_Shift1_Q57]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

Topic:- CA_HIN_21DEC_S1

" yu w1 gt ©
(1) 31fa (2) HYH (3) HdT (4) Hy=

[Question ID = 58][Question Description = 158_CA1_21Dec_Set1_Shift1_Q58]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]
3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

2 feu T faemedi § § e’ @ g d@fu-fasse wifsw)
(1) T+ (2) fH:+amm (3) fA+em (4) Ta+wem

[Question ID = 59][Question Description = 159_CA1_21Dec_Set1_Shift1_Q59]
1. 1 [Option ID = 233]
2. 2 [Option ID = 234]
3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

3 fou e faesredl § | yds ! w1 gl 9fy fowse i .
(1) Wd+Teh (2) ufd+ueh (3) Y+cu® (4) ufd+Ue

[Question ID = 60][Question Description = 160_CA1_21Dec_Set1_Shift1_Q60]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Y gz w2 aul a TEE § fa aa9 foru e e @1 =9 gy & fou v v
(1)  esiat (2) = (3) STHIUH (4) AddHH

[Question ID = 61][Question Description = 161_CA1_21Dec_Set1_Shift1_Q61]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]




*) ‘el gfafs oR TR § el ¥1' 79 a9 1 9S B9 E
(1) 9 IR H IfEg 2| (2) ! giEfs SR H el B
(3) =TI yfafg AR SWH 7 (4) 3= fewmsd 9 9fEs B
1[Q:.lt[egti<?n |||; =26;§]][Question Description = 162_CA1_21Dec_Set1_Shift1_Q62]
2. 2 [Option ID = 246]

3. 3 [Option ID = 247]
4. 4 [Option ID = 248]

®) ‘A A HerE o @9 ©

(1) el B (2) Ed =g femr
(3) =AM & (4) Hdm &

[Question ID = 63][Question Description = 163_CA1_21Dec_Set1_Shift1_Q63]

1. 1 [Option ID = 249]

2. 2 [Option ID = 250]

3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

" faefafee 8 @ wiH-a o eigs &2
(1) 9 7_T & S (2) TEHWAETF ¥
(3) ETI =l TSR HEH Faansil (4) T 1 TS0 Y MU
[Question ID = 64][Question Description = 164_CA1_21Dec_Set1_Shift1_Q64]
1. 1 [Option ID = 253]
2. 2 [Option ID = 254]

3. 3 [Option ID = 255]
4. 4 [Option ID = 256]

® 'ggst v G Hier 2’ 59 drenifad e B
(1) T faar Ter-31em &l
(2) |t TH-H T B
3) T ufism % wer =&l faean
(4) -+ fopam T e eree Ern B
[Question ID = 65][Question Description = 165_CA1_21Dec_Set1_Shift1_Q65]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]

3. 3 [Option ID = 259]
4. 4 [Option ID = 260]



) frefafed § 4 #H-9 T TS 2
(1) Afe 39 =8 1 H 48 held S9! < Hehell o1
(2) Afg 39 =Ed o H§ 7% HeaH SIH! < Hhdl 7 |
(3) Af% 39 =% @ H 9% et 37U < Fhell § |
(4) =fE 3Ty = @ § J% Ford STIH] T Hhl & |

[Question ID = 66][Question Description = 166_CA1_21Dec_Set1_Shift1_Q66]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]

"0 Frerfoafed 8 & -1 vreg TR 1 garefl @ & 2
(1) M (2) ©H 3) ™ (4) =m

[Question ID = 67][Question Description = 167_CA1_21Dec_Set1_Shift1_Q67]

1. 1 [Option ID = 265]

2. 2 [Option ID = 266]

3. 3 [Option ID = 267]
4. 4 [Option ID = 268]

Topic:- CA_POLITY_21DEC_S1

D Which award is exclusively for Sports Achievements ?
(1) Arjun Award (2) Jnanpith Award
(3) Kalinga Award (4) Vyasa Samman

frefafag § § #F o g fafire $9 9 @@ syafert & fau yem fea s 72

(1) 315 JE=hIL (2) FFYS YRR
(3)  Ric qUERR (4) =IH HHH

[Question ID = 68][Question Description = 168_CA1_21Dec_Set1_Shift1_Q68]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

2) Who wrote the book “The Life Divine Essays on the Gita” ?

(1) Dr. S. Radhakrishnan (2) V.S. Naipal

(3)  Sri Aurobindo Ghosh (4) Swami Shivanand
“The life Divne Essays on the Gita” d& Y& freehi foat g2 g7
(1) 2l TH. THFwH (2) @l TH. A

(3) ot erfa= = (4) T REmS

[Question ID = 69][Question Description = 169_CA1_21Dec_Set1_Shift1_Q69]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]
3. 3 [Option ID = 275]
4. 4 [Option ID = 276]



3) Where is the largest nuclear power plant in India ?

(1) Kudankulam (2) Pune

(3) Shimla (4) Chennai
A o1 Holl wgl FYfHer R e e e 8 2

(1) Fredge™ (2) T

(3) Termem (4) =3

[Question ID = 70][Question Description = 170_CA1_21Dec_Set1_Shift1_Q70]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

4)
Which of the following states in India had a non-Congress government for the first time,
post-independence ?

(1) West Bengal (2) Tamil Nadu

(3) Pondicherry/Puducherry (4) Kerala

frefafea § & wra & forg T 8, ool 9., el IR Tk - TRR ST o7 o1 ?
(1) ufeaw s (2) Ty

(3) I/ gEE (4) T

[Question ID = 71][Question Description = 171_CA1_21Dec_Set1_Shift1_Q71]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

5

\)Nho regulates the Housing Finance Companies ?

(1) National Housing Bank (2) HDEC (3) HUDCO (4) RBI
afrary T shufai 1 S e w22

(1) National Housing Bank (2) HDEC (3) HUDCO (4) RBI

[Question ID = 72][Question Description = 172_CA1_21Dec_Set1_Shift1_Q72]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

6) According to the Indian Constitution, who is the first citizen of India ?

(1) The President (2) Lok Sabha Speaker
(3) Vice-President (4) Prime Minister
TS FTem & STTHR R ol 950 AR i ¢ 2

(1) u=ufd (2) TATRYI-SAIE

(3) IY-gufd (4) guEHS

[Question ID = 73][Question Description = 173_CA1_21Dec_Set1_Shift1_Q73]



1 [Option ID = 289]
2 [Option ID = 290]
3 [Option ID = 291]
4 [Option ID = 292]

AN wnN -

7) Where is the popular ‘Rath Yatra’ festival celebrated ?
(1) Madurai (2) Puri (3) Haridwar
IRy 19 AN HElEa HEl AR S & 2

(1) g 2 w (3) @RER

[Question ID = 74][Question Description = 174_CA1_21Dec_Set1_Shift1_Q74]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]
3. 3 [Option ID = 295]
4. 4 [Option ID = 296]

8 Who is the artist of popular ‘Hans Damayanti’ painting ?

(I) A.L Menon (2) Raja Ravi Verma

(3) Amrita Shergil (4) Rabindranath Tagore
wreRfiE ‘g9 grata’ Faseer & TesfhR &iF € 7

(1) T 37E. #4 (2) Trem g =mi

(3) oTgar IR (4) =g &R

[Question ID = 75][Question Description = 175_CA1_21Dec_Set1_Shift1_Q75]
1. 1 [Option ID = 297]
2. 2 [Option ID = 298]
3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

%) Which is the largest Bank of India ?

(1) Reserve Bank of India (2) State Bank of India
(3) Central Bank of India (4) Bank of India

YR o1 Ted o2l Sk i © 7

(1) 9Rdr e 5+ (2) AR Ve §&

(3) Hea d& 3w Sfem (4) §% 3w gfem
[Question ID = 76][Question Description = 176_CA1_21Dec_Set1_Shift1_Q76]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]

3. 3 [Option ID = 303]
4. 4 [Option ID = 304]

10 In which year, Indian rupee underwent devaluation for first time ?

(1) 1949 (2) 1966 (3) 1991
frfafad 9 9 fFg o9 Teel 9R, MR 90 1 ST gl o1 2
(1) 1949 2) 1966 (3) 1991

[Question ID = 77][Question Description = 177_CA1_21Dec_Set1_Shift1_Q77]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]

(4)

(4)

Dwarka

BT

1994

1994



3. 3 [Option ID = 307]
4. 4 [Option ID = 308]

11)
What do you understand by ‘Hawala” ?

(1) Illegal transaction (2) Evading taxes

(3) [Illegal Share trading (4) Complete description of any subject
‘g’ | 11 A WHA § 7

(1) focei ga1 1 o1dy @H-9 (2) HLH Il

(3) 1Y IR SR (4) Tordt oft o =1 wyol 9o

[Question ID = 78][Question Description = 178_CA1_21Dec_Set1_Shift1_Q78]
1. 1 [Option ID = 309]
2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

12)
How much Labour Power in India has been allocated towards agriculture (as per census
2011) ?

(1) 48% @) 50% (3) 54% 4)  64%
9RA I fFaet 9= vifem, #fo =@ § faffea & (S0 2011 % oFER) 2
(1) 48% 2) 50% (3) 54% 4) 64%

[Question ID = 79][Question Description = 179_CA1_21Dec_Set1_Shift1_Q79]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]
3. 3 [Option ID = 315]
4. 4 [Option ID = 316]

13)
‘Garba’ is a popular folk dance in which of the following State of India ?

(1) Maharashtra (2) Gujarat (3) Rajasthan (4) Punjab
‘e’ Frefafaa § @ ara F g T 1 AiE AT § 2

(1) ey (2) TS (3) TSI (4) dSE

[Question ID = 80][Question Description = 180_CA1_21Dec_Set1_Shift1_Q80]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

14)
Rukmini Devi Arundale is associated with which of the following dance form ?

(1) Bharatnatyam (2) Kathakali (3) Manipuri (4) Mohiniattam
wlomfon 3ot srenea frfafea 4 9 forg 7o fawn & dafum 372
(1) SR (2) wHAHA 3) #fgd  (4) festeEH

[Question ID = 81][Question Description = 181_CA1_21Dec_Set1_Shift1_Q81]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]



3. 3 [Option ID = 323]
4. 4 [Option ID = 324]

5 In India, who is the Supreme Commander of the Defence Forces ?

(1) The President (2) The Prime Minister
(3) Chief of Defence Staff (4) Defence Minister
WA T T8 A 1 Hate S1eA HiA B § 2

(1) g (2)  9YE =l

(3) IEyq™ (4) TEnHA

[Question ID = 82][Question Description = 182_CA1_21Dec_Set1_Shift1_Q82]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]
3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

16)

Which of the following place is not related to Gautam Buddha ?
(I) Sarnath (2) Bodh Gaya (3) Kushi Nagar
frefafed § @ SF-a1 2™ Ty 95 9 Heifed 78 € ?

(1) WERA™ (2) SETE (3) IR

[Question ID = 83][Question Description = 183_CA1_21Dec_Set1_Shift1_Q83]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]
3. 3 [Option ID = 331]
4. 4 [Option ID = 332]

17)

Pandit Hari Prasad Chaurasia is an exponent of :

(I) Veena (2) Sur Bahar (3) Flute
vfed el =wfan ferme favm €2

(1) o (@) TR (3) =rgd

[Question ID = 84][Question Description = 184_CA1_21Dec_Set1_Shift1_Q84]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]
3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

18)

Onam festival originated in the state of :

(1) Andhra Pradesh (2) Kerala (3) Tamil Nadu
‘i’ g e Tew g Hefua g 2

(1) 31y w=w (2) HTA (3) fHeTg

[Question ID = 85][Question Description = 185_CA1_21Dec_Set1_Shift1_Q85]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

(4) Pava Puri

(4) HETgd

(4) Israj

(4) =WE

(4) Karnataka

(4) HAleH



Topic:- CA_GS_21DEC_S1

1)
Smallest flowering plant is :

(1)  Polyalthia (2)  Rafflesia (3)  Wolffia (4) Mangifera
HeH BT FHeTer Uil ¥
(1)  wicriafoern (2) {wcrmEr (3) aicwia 4) Hermw

[Question ID = 86][Question Description = 186_CA1_21Dec_Set1_Shift1_Q86]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

2) “‘Chilgoza’ is a seed of :

(1) Cycas revoluta (2) Pinus gerardiana
(3) Cedrus deodara (4) Zamia furfuracea
feremirst 1 U oS

(1) TIEFg Ereger (2) UETH SRR

(3) T JRR (4)  Sfte EgaGen

[Question ID = 87][Question Description = 187_CA1_21Dec_Set1_Shift1_Q87]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]
3. 3 [Option ID = 347]
4. 4 [Option ID = 348]

3) Rhododendron is the characteristic species of :

(1) Tropical Zone (2) Alpine Zone
(3) Mangrove Belt (4) Gangetic Plain
JeieTgiy i fafire el @2

(1) SoERfeadT & (2) U &

(3) TRH = & (4) e e

[Question ID = 88][Question Description = 188_CA1_21Dec_Set1_Shift1_Q88]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

4()310ves are :

(1) Leaves (2) Flower buds (3) Fruits (4) Seeds
AE

(1) T (2) e () wa (@)

[Question ID = 89][Question Description = 189_CA1_21Dec_Set1_Shift1_Q89]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]



3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

5)

What is the cause of guttation in leaves ?

(I) Positive root pressure (2)
(3) Photosynthesis (4)
T B favg B & w0 R ?

(1) S gl g (2)
(3) WISl YA (4)

Transpiration
Osmosis

I EE
TETT

[Question ID = 90][Question Description = 190_CA1_21Dec_Set1_Shift1_Q90]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

6)

Fibrous tissue which connects two bones is called :

(1) Ligament (2)
(3) Muscle (4)
WIER Sk, |1 a B‘@"Eﬂ % TrﬁgﬂT g

(1) +1g (2)
@) (4)

Tendon
Connective Tissue

FUSY
AT Fedh

[Question ID = 91][Question Description = 191_CA1_21Dec_Set1_Shift1_Q91]
1. 1 [Option ID = 361]
2. 2 [Option ID = 362]
3. 3 [Option ID = 363]
4. 4 [Option ID = 364]

7)

Dr. Norman Borlaug is associated with :

(1) Green Revolution (2)
(3) Yellow Revolution (4)
<. T SR {aS ©

(1) efa wifa 4 (2)
(3) id shifd | (4)

White Revolution
Blue Revolution
vaq Hifd 9

et spifa |

[Question ID = 92][Question Description = 192_CA1_21Dec_Set1_Shift1_Q92]
1. 1 [Option ID = 365]
2. 2 [Option ID = 366]
3. 3 [Option ID = 367]
4. 4 [Option ID = 368]



8) Which Salt is found in maximum quantity in bones ?
(1) Calcium Carbonate (2) Calcium Phosphate
(3) Sodium Chloride (4) Magnesium Chloride
afgdl 8§ a1 "oz ged safire aen § T S @ 2
(1) ez FEe (2) Hfcaam widhe
(3) wfem FRTES (4) HIRE FARES
[Question ID = 93][Question Description = 193_CA1_21Dec_Set1_Shift1_Q93]
1. 1 [Option ID = 369]
2. 2 [Option ID = 370]

3. 3 [Option ID = 371]
4. 4 [Option ID = 372]

%) Which of the following is used for making match sticks ?

(1) White Phosphorus (2) Black Phosphorus

(3) Both White and Black Phosphorus (4) Red Phosphorus
mifer st <iferti & frto & frefafad § § e soem fen s &2
(1) ad HIERRY (2) Tl HIERRE
(3) Tod 3R HTeT Sl HICHRY (4) T RIERRY
[Question ID = 94][Question Description = 194_CA1_21Dec_Set1_Shift1_Q94]
1. 1 [Option ID = 373]
2. 2 [Option ID = 374]

3. 3 [Option ID = 375]
4. 4 [Option ID = 376]

10)
The human eye forms its image on :

(1) Cornea (2) Pupil (3) Retina (4)
e 39 wiaey W fafda = g1

(1) =i (2) el (Ffuer) (3) e (4)

[Question ID = 95][Question Description = 195_CA1_21Dec_Set1_Shift1_Q95]
1. 1 [Option ID = 377]
2. 2 [Option ID = 378]
3. 3 [Option ID = 379]
4. 4 [Option ID = 380]

') Penicillin was discovered by :

(1) Edward Jenner (2) Robert Koch

(3) Louis Pasteur (4) Alexander Flemming
Gigef =t ars BRI I TS ot ?

(1) TEag AR (2) T A

(3) oEH UTEER (4) Teltsiet wifh

[Question ID = 96][Question Description = 196_CA1_21Dec_Set1_Shift1_Q96]
1. 1 [Option ID = 381]
2. 2 [Option ID = 382]

Optic Nerve

affies 74



3. 3 [Option ID = 383]
4. 4 [Option ID = 384]

12) Which is an example of a strong electrolyte ?

(1) NaCl 2) ZnCl, (3) CH,COOH (4) HCN
TS WA SORIcle 1 Sty #11 & 2
(1) NaCl (2) ZnCl, (3) CH,COOH (4) HCN

[Question ID = 97][Question Description = 197_CA1_21Dec_Set1_Shift1_Q97]
1. 1 [Option ID = 385]
2. 2 [Option ID = 386]
3. 3 [Option ID = 387]
4. 4 [Option ID = 388]

13)
Which of the following substances is used for making filaments of electric bulbs ?
(1) Silver (2) Copper (3) Aluminium (4) Tungsten

frefafea § § m-m1 verd, Tofags aoa & 9 9 9AR F31 & fou yga da e ?
(1) e (2) e (3) uegfaftim 4) <T=A

[Question ID = 98][Question Description = 198_CA1_21Dec_Set1_Shift1_Q98]
1. 1 [Option ID = 389]
2. 2 [Option ID = 390]
3. 3 [Option ID = 391]
4. 4 [Option ID = 392]

14) Galiva Contains :
(1) Amylase (2) Cellulose (3) Pectinase (4) Chitinase
HeATge SR HLdl € ;
(1) U™ 2) Hgas (3) Ul (4) =wEfeH

[Question ID = 99][Question Description = 199_CA1_21Dec_Set1_Shift1_Q99]
1. 1 [Option ID = 393]
2. 2 [Option ID = 394]
3. 3 [Option ID = 395]
4. 4 [Option ID = 396]

15 What is the Chemical formula of Baking Soda ?

(1) NH,CI @) Na,CO; (3) NH,NO, 4) NaHCO,
ST Gret w1 TEEtTE g3 Fn e ?
(1) NH,CI (2) Na,CO, (3) NH,NO, (4) NaHCO,

[Question ID = 100][Question Description = 200_CA1_21Dec_Set1_Shift1_Q100]
1. 1 [Option ID = 397]
2. 2 [Option ID = 398]
3. 3 [Option ID = 399]
4. 4 [Option ID = 400]

16)



In order to prevent oxidation of potato chips during storage in sealed bags, chips
manufacturers seal the packet in the presence of :

(1) Oxygen (2) Nitrogen (3) Hydrogen (4) Carbon-dioxide
Hictag 371 H ero % SN 3] F fa & stfadianto %1 I & fore famg fmfm F
Suftefd # e %1 Hid #w@ §)

(1) st (2) TEESE (3) EIEEISH (4) HIEH-CEAFIES

[Question ID = 101][Question Description = 201_CA1_21Dec_Set1_Shift1_Q101]
1. 1 [Option ID = 401]
2. 2 [Option ID = 402]
3. 3 [Option ID = 403]
4. 4 [Option ID = 404]

17)
The relationship between two organisms in which one is benefitted while other is neither
harmed nor benefitted is known as :

(1) Commensalism (2) Parasitism
(3) Proto-Cooperation (4) Mutualism
31 Sial & oft" day e T @l Ay @ € e gE Rl A o JREE S § SR T 8 ey,

% ®Y H A 1L
(1) wefer (2) OESife
(3) WE-HEHR (4) TR
[Question ID = 102][Question Description = 202_CA1_21Dec_Set1_Shift1_Q102]
1. 1 [Option ID = 405]
2. 2 [Option ID = 406]

3. 3 [Option ID = 407]
4. 4 [Option ID = 408]

Topic:- CA_HIST_21DEC_S1

1) In the First Anglo-Mysore war which ruler defeated the British ?

(1) Haidar Ali (2) Tipu Sultan
(3) Madhav Rao (4) Mir Jafar
TEe Well-HgY 5 A fore wmees 7 SIS A g an?

(1) et et (2) Y gEH
(3) HHE & (4) HR ST

[Question ID = 103][Question Description = 203_CA1_21Dec_Set1_Shift1_Q103]
1. 1 [Option ID = 409]
2. 2 [Option ID = 410]
3. 3 [Option ID = 411]
4. 4 [Option ID = 412]



2) Who wrote the Biography “Humayunama” ?

(1) Abdur Rahim (2) Abdul Fazl

(3) Gulbadan Begum (4) Chandra Bhan
" EarT! I Stet e ferdt oft 2

(1) o5 @i (2) oTRE HE

(3) TSI ST (4) “H&UH

[Question ID = 104][Question Description = 204_CA1_21Dec_Set1_Shift1_Q104]
1. 1 [Option ID = 413]
2. 2 [Option ID = 414]
3. 3 [Option ID = 415]
4. 4 [Option ID = 416]

3) Name the battle in which the Nawab of Bengal, Sirajuddaula, was defeated :

(1) Battle of Buxar (2) Battle of Plassey
(3) Battle of Bedera (4) Battle of Khed
S 5 I A TRy fTHE S o Fore IR wWifsd g 9
(1) R GG (2) e AG

(3) & H IS (4) EEH IS

[Question ID = 105][Question Description = 205_CA1_21Dec_Set1_Shift1_Q105]
1. 1 [Option ID = 417]
2. 2 [Option ID = 418]
3. 3 [Option ID = 419]
4. 4 [Option ID = 420]

4)

The Mewar-Mughal Treaty was signed between Amar Singh and which Mughal emperor in
1615 AD.?

(1) Jahangir (2) Akbar (3) Aurangzeb (4) Shahjahan
1615 351 H 37 THe 3R fhd et 9 o 9% Hare-1Td HiY g8 ?
(1) R @) FHI  (3) e (4) v=TTRl

[Question ID = 106][Question Description = 206_CA1_21Dec_Set1_Shift1_Q106]
1. 1 [Option ID = 421]
2. 2 [Option ID = 422]
3. 3 [Option ID = 423]
4. 4 [Option ID = 424]

®) The Third Battle of Panipat was fought between :

(1) Nadir Shah and Mughals (2) Humanyun and Sher Shah

(3) Hemu and Akbar (4) Marathas and Ahmad Shah Abdali
a1 990 g5 forseh == orer T o1 ?

(1) fezemE AR g (2) gAY 3R AT

(3) BY &R TR (4) TSI iR STEHEE STearett

[Question ID = 107][Question Description = 207_CA1_21Dec_Set1_Shift1_Q107]



1 [Option ID = 425]
2 [Option ID = 426]
3 [Option ID = 427]
4 [Option ID = 428]

AN wnN =

®) “The Synthesis of Yoga' was written by :

(1) Barindra Kumar Ghosh (2) Aurobindo Ghosh
(3) Vinoba Bhave (4) Swami Vivekanand
‘'z fHafER st % g fafaa g1

(1) =g FHAR = (2) afa
(3) o wma (4) TaT foRETR

[Question ID = 108][Question Description = 208_CA1_21Dec_Set1_Shift1_Q108]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

7)
The famous Kohinoor diamond was produced from a mine in :
(1) Golconda (2) Bijapur (3) Panna (4) Chhotanagpur

gufag FifeR € fore @em 4 feren o1 2
(1) TepUe (2) SiemgR (3) U (4) DBRIARY

[Question ID = 109][Question Description = 209_CA1_21Dec_Set1_Shift1_Q109]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]
3. 3 [Option ID = 435]
4. 4 [Option ID = 436]

8) Gautama Buddha delivered his first Sermon as “Dharma Chakra Pravartan” at :

(1) Sarnath (2) Bodh Gaya (3) Lumbini (4) Sanchi
Mg gg 3 * erdeeh Yad' % ®9 H o7 vgel yaiudy el famn on?
(1) " H (2) SETH (3) fart | 4) drrH

[Question ID = 110][Question Description = 210_CA1_21Dec_Set1_Shift1_Q110]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]
4. 4 [Option ID = 440]

9)

After the first war of independence of 1857, Mughal ruler Bahadur Shah Zafar was sent to
exile to :

(1) Singapore (2) Siberia (3) Rangoon (4) Kabul
1857 o JUH T SQIEH % 916, HITe Y Jaig I8 S 1 Fafe % fere el srsi e o1 ?

(1) fEmg (2) GRS (3) T (4) e

[Question ID = 111][Question Description = 211_CA1_21Dec_Set1_Shift1_Q111]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]



3. 3 [Option ID = 443]
4. 4 [Option ID = 444]

1;)51 memorial for the 70,000 soldiers (mostly Indian) who died in the First World War is :
(1) Gateway of India (2) Char Minar

(3) India Gate (4) Delhi War Cemetery

gorq fagargs |, 70,000 ¥ SART AN U ( SAfYshdt WRA™ ) fquiissi i o § s 16 $F ¢
(1) 9 ik gfean (2) IR HAR

(3) Efeare (4) fooet ar fafu

[Question ID = 112][Question Description = 212_CA1_21Dec_Set1_Shift1_Q112]

1. 1 [Option ID = 445]

2. 2 [Option ID = 446]

3. 3 [Option ID = 447]

4. 4 [Option ID = 448]

11)

The book “Poverty and Un-British Rule in India” that brought attention to the “Wealth
Drain” into Britain was authored by :
(1) Dadabhai Naoroji (2) N.N. Roy

(3) Jaiprakash Narayan (4) Ram Manohar Lohia

“Poverty and Un-British Rule in India” 9 Y&ieh, foeq faeq # ‘uq frepdl’ sl Siiv =
aTreRfea femam o, & gr faflad 21

(1) ST F2sh (2) THEA 4
(3) STEAYHIY AR (4) TH HAR Sfe

[Question ID = 113][Question Description = 213_CA1_21Dec_Set1_Shift1_Q113]
1. 1 [Option ID = 449]
2. 2 [Option ID = 450]
3. 3 [Option ID = 451]
4. 4 [Option ID = 452]

12) First Europeans to begin trade with India were :

(1) French (2) Dutch (3) Portuguese (4) British
e JUdE, fin 9Rd & 919 SR 9% o o
(1) W (@) = (3) g (4) ot

[Question ID = 114][Question Description = 214_CA1_21Dec_Set1_Shift1_Q114]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]
4. 4 [Option ID = 456]



13) Chipko movement was a strong initiative for :
(1) Independence (2) Sharing of river waters
(3) Environment (4) Building a temple
“fagert icer’ fhder ol U ggg usal o1 ?
(1) ¥ (2) - F e ¥ ferg
(3) wEER & fau (4) Hfex fHim & fam

[Question ID = 115][Question Description = 215_CA1_21Dec_Set1_Shift1_Q115]
1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]

14)

Who of the following is known as father of “Plastic Surgery” in India ?

(1) Charak (2) Dhanvantri (3) Ajivika (4) Sushruta
frefefed § | 58 vrd =1 wenfiess g’ &1 Seh JF1 571 § 2

(1) =H (2) GTe=Rt (3)  Afstfereht (4) ggd

[Question ID = 116][Question Description = 216_CA1_21Dec_Set1_Shift1_Q116]
1. 1 [Option ID = 461]
2. 2 [Option ID = 462]
3. 3 [Option ID = 463]
4. 4 [Option ID = 464]

Topic:- CA_NATMOV_21DEC_ST1

1)
Who of the following is credited with the slogan, “March forward : We are for India : India
is for Indians” ?

(1) Madam Bhikaji Cama (2) Madan Lal Dhingra

(3) Laxmi Sehgal (4) Amba Bai

frefafed & | ford * wre wiears & AR Wi Sfem, e 3= Wi sferw & A JEm e g 2
(1) HeH et HH (2) Hed o fum

(3) el TEe (4) @7 T

[Question ID = 117][Question Description = 217_CA1_21Dec_Set1_Shift1_Q117]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]

2()}uit India Movement took place in :

(1) 1942 (2) 1949 (3) 1940 (4) 1930

" R SISl SR Y% g o :

(1) 1942 °H (2) 1949 H (3) 1940 H (4) 1930 H

[Question ID = 118][Question Description = 218_CA1_21Dec_Set1_Shift1_Q118]



1 [Option ID = 469]
2 [Option ID = 470]
3 [Option ID = 471]
4 [Option ID = 472]

A wnN =

3)

Who persuaded Mahatma Gandhi to allow women to participate in freedom movement ?
(1) Ambabai (2) Kamla Nehru

(3) Sarojini Naidu (4) Kasturba Gandhi

el e o, afgensii 9 urierdt & foru e et s fRen weud T an?
(1) ST=IErs (2) HHA TEE
(3) GfeH ArIg (4) TG

[Question ID = 119][Question Description = 219_CA1_21Dec_Set1_Shift1_Q119]
1. 1 [Option ID = 473]
2. 2 [Option ID = 474]
3. 3 [Option ID = 475]
4. 4 [Option ID = 476]

4 Who was a Lawyer and Freedom Fighter from East Bengal ?

(1) Jatin Das (2) Bipin Chandra Pal
(3) Chittaranjan Das (4) Rabindranath Tagore
o e B T iR T S A 82

(1) Sifad g™ (2) fafgT=rg 9

3) fodism T (4) =g &R

[Question ID = 120][Question Description = 220_CA1_21Dec_Set1_Shift1_Q120]
1. 1 [Option ID = 477]
2. 2 [Option ID = 478]
3. 3 [Option ID = 479]
4. 4 [Option ID = 480]

®) The Brahmo Samaj of India was established in 1866 by :
(1) Keshav Chandra Sen (2) Raja Rammohan Roy
(3) Devendranath Tagore (4) Swami Vivekanand

1866 H SeTgHrS @t Trgr fA=fafaa § 9 forgess g =it g ot ?
(1) <heEEs o9 (2) TS THHEA T
(3) SEETYI TR (4) T faasm<

[Question ID = 121][Question Description = 221_CA1_21Dec_Set1_Shift1_Q121]

1. 1 [Option ID = 481]

2. 2 [Option ID = 482]

3. 3 [Option ID = 483]
4. 4 [Option ID = 484]

6)



Bhagat Singh and Batukeshwar Dutt threw bombs in the Legislative Assembly as a protect
against :
(1) Passage of Republic Safety Bill ~ (2) Death of Lala Lajpat Rai

(3) Jalianwala Bagh Massacre (4) Visit of Simon Commission
T g o7 Sgehver €9 A F fay § fauraw § o % |
(1) < gren fagees 1 i g (2) AT oSTId T B GG

(3) Siferarare am s (4) TTERT FHUIH H S

[Question ID = 122][Question Description = 222_CA1_21Dec_Set1_Shift1_Q122]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]
3. 3 [Option ID = 487]
4. 4 [Option ID = 488]

7)
Who of the following was the first woman to court arrest during the non-cooperation
movement ?

(1) Savitri Bai (2) Ura Devi (3) Basanti Devi (4) Amba Bai
TN AT & SR et FRwaR 7 arel fr=fafaa § 9 yeelt afeen $F ot ?
(1) @rfesi = (2) U <H (3) SHdr qat (4) =TS

[Question ID = 123][Question Description = 223_CA1_21Dec_Set1_Shift1_Q123]
1. 1 [Option ID = 489]
2. 2 [Option ID = 490]
3. 3 [Option ID = 491]
4. 4 [Option ID = 492]

8)

Which of the following was not a French colony in India ?

(1) Pondichery (2) Chandranagar (3) Mabhe (4) Daman
frefafea 5 9 #9 wRa 5 = FiaET T8 ot ?

(1) g (2) TEFR (3) (4) A

[Question ID = 124][Question Description = 224_CA1_21Dec_Set1_Shift1_Q124]
1. 1 [Option ID = 493]
2. 2 [Option ID = 494]
3. 3 [Option ID = 495]
4. 4 [Option ID = 496]

%) When did the partition of Bengal come into effect ?

(1) October 16 1905 (2) August 7 1905
(3) April 6 1919 (4) February 5 1922
TS 1 a9 %9 g9E | 21 ?

(1) 16 3T 1905 (2) 7 W 1905

(3) 6 3T 1919 (4) 5 ®EL 1922

[Question ID = 125][Question Description = 225_CA1_21Dec_Set1_Shift1_Q125]
1. 1 [Option ID = 497]
2. 2 [Option ID = 498]



3. 3 [Option ID = 499]
4. 4 [Option ID = 500]

10 Who founded the Indian Home Rule League in 1916 ?

(1) Lala Lajpat Rai (2) Gopal Krishna Gokhale
(3) Bal Gangadhar Tilak (4) Dadabhai Naoroji
1916 |, TR B Tl T i TATYAT fHEA T o ?

(1) el Sredd T (2) YT FO TEA

(3) STATMER faeTR (4) <IETHE ARSI

[Question ID = 126][Question Description = 226_CA1_21Dec_Set1_Shift1_Q126]
1. 1 [Option ID = 501]
2. 2 [Option ID = 502]
3. 3 [Option ID = 503]
4. 4 [Option ID = 504]

1) The Civil Disobedience movement, Dandi March, was launched on :

(1) 31 December 1929 (2) 12 March 1930
(3) 5 March 1931 (4) 3 January 1932
(ST | & 1Y WieTg el Ao 1 GRY el o on?

(1) 31 feHaw 1929 (2) 12 A 1930
(3) 5 A 1931 (4) 3 St 1932

[Question ID = 127][Question Description = 227_CA1_21Dec_Set1_Shift1_Q127]
1. 1 [Option ID = 505]
2. 2 [Option ID = 506]
3. 3 [Option ID = 507]
4. 4 [Option ID = 508]

1127110 of the following was the first person to translate the ‘Bhagwad Gita’ in English ?
(1) Charles Wilkins (2) James Dalhousie

(3) Warren Hastings (4) Wryllie Curzon

Frafafaa # 9 frgm wduym * wrag firar’ &1 st | srarg fean ar?

(1) =" faferg (2) SH @RS

(3) anA BTy (4) el Foid

[Question ID = 128][Question Description = 228_CA1_21Dec_Set1_Shift1_Q128]
1. 1 [Option ID = 509]
2. 2 [Option ID = 510]
3. 3 [Option ID = 511]
4. 4 [Option ID = 512]

13)



In which year did Indian troops liberate Goa, Daman and Diu from the Portuguese ?

(1) 1947 2) 1950 (3) 1956 4) 1961
forg o wiRdta 8= geli A, qamtert @ e, <u oiR @ ot foge sran o1 ?
(1) 1947 2) 1950 (3) 1956 (4) 1961

[Question ID = 129][Question Description = 229_CA1_21Dec_Set1_Shift1_Q129]
1. 1 [Option ID = 513]
2. 2 [Option ID = 514]
3. 3 [Option ID = 515]
4. 4 [Option ID = 516]

4 The National Flag of India was adopted in its present form on :

(1) 14 July 1947 (2) 22 July 1947

(3) 15 August 1947 (4) 26 January 1950
I 1 ALY &8, 3T SdHH &Y H kel Tichd g1 417

(1) 14 Seurs 1947 (2) 22 SIS 1947
(3) 15 ST 1947 (4) 26 SHEEH 1950

[Question ID = 130][Question Description = 230_CA1_21Dec_Set1_Shift1_Q130]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]
3. 3 [Option ID = 519]
4. 4 [Option ID = 520]

Topic:- CA_AGRI_21DEC_S1

1)
Which state is the largest producer of coffee in India ?

(1) Tamil Nadu (2) Andhra Pradesh (3) Odisha (4) Karnataka
FHIF-H1 T, YRG H FI6! 1 FoY TS SACH © 7
(1) g (2) Y wRW (3) gm 4) FAEH

[Question ID = 131][Question Description = 231_CA1_21Dec_Set1_Shift1_Q131]
1. 1 [Option ID = 521]
2. 2 [Option ID = 522]
3. 3 [Option ID = 523]
4. 4 [Option ID = 524]

2) The edible part of sweet potato (Ipomoea batata) is :

(1) Stem (2) Adventitious roots
(3) Flower buds (4) Leaves

YTEEl (Ipomoea batata) 1 HH-91 feemn @/ € 2

(1) (2) ST H

(3) el (4)

[Question ID = 132][Question Description = 232_CA1_21Dec_Set1_Shift1_Q132]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]
3. 3 [Option ID = 527]
4. 4 [Option ID = 528]



3)
Who among the following is known as Father of “White Revolution” in India and the brain
behind ‘Operation flood” ?

(1) M.S. Swaminathan (2) N.E. Borlaug
(3) Verghese Kurien (4) Amrita Patel
TRd | “veId shifd’ ok SHeh 991 SR Feie’ % e i |, etatad § | fawet o ?
(1) TATE. @A (2) TAZ. IR

(3) @S AT (4) A YA

[Question ID = 133][Question Description = 233_CA1_21Dec_Set1_Shift1_Q133]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4. 4 [Option ID = 532]

4)

Most poisonous water pollutant is :

(1) Arsenic (2) Propane (3) Chlorine (4) Sulphur dioxide
S H e Ty fawead weueE ©

(1) s (2) 9 (3) IR (4) HEE SEHFES

[Question ID = 134][Question Description = 234_CA1_21Dec_Set1_Shift1_Q134]
1. 1 [Option ID = 533]
2. 2 [Option ID = 534]
3. 3 [Option ID = 535]
4. 4 [Option ID = 536]

5)
Which of the following spice is referred to as ‘Queen of Spices’ ?
(1) Black pepper (2) Clove (3) Cinnamon (4) Cardamom

Frefafed 9 9 g 7ae &t ol St T e S © 2
1) el g 2) @M (3) STt (4) ST

[Question ID = 135][Question Description = 235_CA1_21Dec_Set1_Shift1_Q135]
1. 1 [Option ID = 537]
2. 2 [Option ID = 538]
3. 3 [Option ID = 539]
4. 4 [Option ID = 540]

6)

Downward movement of water in saturated soils in response to gravity is termed as :

(1) Infilteration (2) Leaching (3) Seepage (4) Percolation
TRy F yfafE § gqa fagt § it i st 1fa w@ el S ¢

(1) = (2) faarem @) fE==A (4) TfgEEo

[Question ID = 136][Question Description = 236_CA1_21Dec_Set1_Shift1_Q136]
1. 1 [Option ID = 541]
2. 2 [Option ID = 542]
3. 3 [Option ID = 543]
4. 4 [Option ID = 544]



7)
Which is the highest maize producing State in India ?

(1) Karnataka (2) Rajasthan (3) Andhra Pradesh
FHIA-H1 T, WA § Hehg 1 Had e Seae a1 ¢ 2
(1) AieHh (2) USTEIH (3) &y wew

[Question ID = 137][Question Description = 237_CA1_21Dec_Set1_Shift1_Q137]
1. 1 [Option ID = 545]
2. 2 [Option ID = 546]
3. 3 [Option ID = 547]
4. 4 [Option ID = 548]

8) ‘Blue Revolution’ is associated with :

(1) Mustard seed production (2) Potato production

(3) Fish production (4) Okra production

Hieft shifa’ Horg €

(1) TG - s &% 3918 4 (2) 3¢ - URA 9

(3) HSE - IAEA 9 (4) 3Ry (Tyvg)) - e 4

[Question ID = 138][Question Description = 238_CA1_21Dec_Set1_Shift1_Q138]
1. 1 [Option ID = 549]
2. 2 [Option ID = 550]
3. 3 [Option ID = 551]
4. 4 [Option ID = 552]

9 Gas filled in fire extinguisher cylinder is :

(1) Methane (2) Carbon dioxide
(3) Ethylene (4) Nitrogen
stfrremss foeiet # s 9 amen 19 €

(1) e (2) e SRS

(3) U (4) FrESH

[Question ID = 139][Question Description = 239_CA1_21Dec_Set1_Shift1_Q139]
1. 1 [Option ID = 553]
2. 2 [Option ID = 554]
3. 3 [Option ID = 555]
4. 4 [Option ID = 556]

100 Mycorrhiza is a symbiotic association of :

(1) Fungus and bacteria (2) Fungus and plant roots
(3) Fungus and soil (4) Fungus and plant stem
FAFYAF 1 T TESiat Had 71

(1) Ta 3R Sfefen (2) HTH 3R 9RY Hel

(3) W IR gt (4) WTH R 9_Y T

[Question ID = 140][Question Description = 240_CA1_21Dec_Set1_Shift1_Q140]
1. 1 [Option ID = 557]

(4)

(4)

Bihar



2. 2 [Option ID = 558]
3. 3 [Option ID = 559]
4. 4 [Option ID = 560]

) Who among the following was a wheat breeder ?

(1) Amrita Patel (2) K.L. Chadda

(3) S.K. Vashal (4) M.S. Swaminathan
frefafes § & #F s 7 g € 2

(1) @1l 9ee (2) *TE. T

(3) TH. =W (4) TH.UH e

[Question ID = 141][Question Description = 241_CA1_21Dec_Set1_Shift1_Q141]
1. 1 [Option ID = 561]
2. 2 [Option ID = 562]
3. 3 [Option ID = 563]
4. 4 [Option ID = 564]

12)

Accumulation of nutrients in a lake or pond due to human intervention or natural process is
called :

(1) Biomagnification (2) Eutrophication
(3) Bioaccumulation (4) Biological sequestration

Yrehfaer Wishan o1 UHETT &8 & SR et a1 drelrs o drves] o1 S99 e ©

(1) SiEeada (2) gum
(3) SEdwEA (4) Sifaw g=s1A

[Question ID = 142][Question Description = 242_CA1_21Dec_Set1_Shift1_Q142]
1. 1 [Option ID = 565]
2. 2 [Option ID = 566]
3. 3 [Option ID = 567]
4. 4 [Option ID = 568]

13)
Excise duty, the largest source of income for the Central Government, is imposed on :
(1) Foreign goods sale in India (2) Export of goods for sale abroad

(3) Sale of goods within the country (4) Production of goods within the country
g TRHR T I FT oY TS ©id, Ieqeedh, Ry o o § €
(1) 9rad | faeel axqsli ot fosht W (2)  focw # == STH arefl axgsil & fd =
(3) U o <L AEGI HI faIshl W (4) < % ST FEGSI h e W

[Question ID = 143][Question Description = 243_CA1_21Dec_Set1_Shift1_Q143]

1. 1 [Option ID = 569]

2. 2 [Option ID = 570]

3. 3 [Option ID = 571]
4. 4 [Option ID = 572]

14)



The Asian Development Bank, of which India is a founding member, has its headquarter’s
at :

(1) Mumbai, India (2) Dhaka, Bangladesh
(3) Colombo, Sri Lanka (4) Manila, Philippines
g o S, TSel YRd U SRI9E HeE ¥, 6 §eIad ©
(1) T, 9Rd (2) @I, STErew
(3)  RIcTH, Sicisht (4) rer, frferd=
[Question ID = 144][Question Description = 244_CA1_21Dec_Set1_Shift1_Q144]
1. 1 [Option ID = 573]
2. 2 [Option ID = 574]

3. 3 [Option ID = 575]
4. 4 [Option ID = 576]

Topic:- CA_POP_21DEC_S1

)
Headquarter of Botanical survey of India is located at :

(1) Mysore (2) Bangalore (3) Kolkata (4) Dehradun
YRATT e e 1 g T smafied 2
(1) "R (2) TR (3) hIerehr 4) &S

[Question ID = 145][Question Description = 245_CA1_21Dec_Set1_Shift1_Q145]
1. 1 [Option ID = 577]
2. 2 [Option ID = 578]
3. 3 [Option ID = 579]
4. 4 [Option ID = 580]

2)

Which one of the following cities is not located on the bank of river Ganga ?

(1) Kanpur (2) Bhagalpur (3) Kolkata (4) Lucknow
Tr=rfafea § 9 -9 38T 7 75 % 92 W Aafed 16§ 2

(1) =AY (2) HTTRTYY (3)  ehicTenTdl (4) <ETSH

[Question ID = 146][Question Description = 246_CA1_21Dec_Set1_Shift1_Q146]
1. 1 [Option ID = 581]
2. 2 [Option ID = 582]
3. 3 [Option ID = 583]
4. 4 [Option ID = 584]

3) Kishanpur wildlife sanctuary is a part of :

(1) Corbett National Park (2) Nanda Devi Biosphere Reserve
(3) Dudhwa National Park (4) Nilgiri Biosphere Reserve
R SSiE AR 1 T o T

(1) e TIFS T (2) T<redt aEfERsR s

(3) YAl YA Uik (4) el srfersr e

[Question ID = 147][Question Description = 247_CA1_21Dec_Set1_Shift1_Q147]
1. 1 [Option ID = 585]



2. 2 [Option ID = 586]
3. 3 [Option ID = 587]
4. 4 [Option ID = 588]

4)
Which of the following is a potential source of bio-diesel ?
(1) Sunflower (2) Jatropha (3) Candlenut tree (4) Milkweed

fr=rfafed § § 9 Ira-<isiel 1 T G977 Jid & 2
1) FEqE 2) S (3) ‘Feae & @) ToowdTe

[Question ID = 148][Question Description = 248_CA1_21Dec_Set1_Shift1_Q148]
1. 1 [Option ID = 589]
2. 2 [Option ID = 590]
3. 3 [Option ID = 591]
4. 4 [Option ID = 592]

sﬁ)Norld Earth Day is celebrated on :

(1) April 6 (2) April 22 (3) June 5 (4) October 7
e a1d € (fava gt feaw) 1 THTAT ST & |

(1) 6 T 2) 22 & (3) 5[ (4) 7 STHRE

[Question ID = 149][Question Description = 249_CA1_21Dec_Set1_Shift1_Q149]
1. 1 [Option ID = 593]
2. 2 [Option ID = 594]
3. 3 [Option ID = 595]
4. 4 [Option ID = 596]

6) “Namami Gange” program is mainly aimed at :

(1) Reduction in Pollution (2) Navigation

(3) Generating hydel power (4) Efficient use of water for irrigation
‘Wﬁﬁ’aﬂﬁ%ﬂﬁ@ﬂ: A el €

(1) UgYYI i HH (2) rEEEE 6

(3) BESA YER IUTEA (4) TH=E % fau 5ie o 9guAm =i

[Question ID = 150][Question Description = 250_CA1_21Dec_Set1_Shift1_Q150]
1. 1 [Option ID = 597]
2. 2 [Option ID = 598]
3. 3 [Option ID = 599]
4. 4 [Option ID = 600]

7)



Which of the following is a common weed in Indian cities considered responsible for causing
allergy in some individuals ?

(1) Parthenium or ‘carrot grass’ (2) Withania or ‘Ashwagandha’

(3) Boerhavia or ‘Punarnava’ (4) Datura or ‘Jimsonweed’

YA I8l § Y S a1l TH -6 G 37990 (weed) © 11 6 & @Rl § dMarelt uetsi &
IO T @S ?

(1) sy = Sfe are’ (2) Taenf=n = ‘ srvemien’

(3) sirwafern =1 ger’ (4) oqq = femEEfas

[Question ID = 151][Question Description = 251_CA1_21Dec_Set1_Shift1_Q151]
1. 1 [Option ID = 601]
2. 2 [Option ID = 602]
3. 3 [Option ID = 603]
4. 4 [Option ID = 604]

8I)-"opulation of Uttar Pradesh in 2021 is estimated to be about :

(1) 17 crores (2) 20 crores (3) 24 crores (4) 27 crores
2021 H ST U A TGS F A fRa 8 S T STHM | 2

(1) 17 Fg (2) 20 FZ (3) 24 FZ (4) 27 ®UZ

[Question ID = 152][Question Description = 252_CA1_21Dec_Set1_Shift1_Q152]
1. 1 [Option ID = 605]
2. 2 [Option ID = 606]
3. 3 [Option ID = 607]
4. 4 [Option ID = 608]

%) Which is India’s most populous city ?
(1) Chennai (2) Delhi (3) Mumbai (4) Kolkata
WA 1 HaH ST STTEET A IR §

(1) = (2) e (3) g (4)  RIeThT

[Question ID = 153][Question Description = 253_CA1_21Dec_Set1_Shift1_Q153]
1. 1 [Option ID = 609]
2. 2 [Option ID = 610]
3. 3 [Option ID = 611]
4. 4 [Option ID = 612]

10) Tndia is natural home of :

(1) Double-humped camel (2) One-horned rhinoceros
(3) Giraffe (4) Chimpanzee

WRA &1 U 9 SAEH T

1) fo-wgm 3= (2) - T

3) (4) TS

[Question ID = 154][Question Description = 254_CA1_21Dec_Set1_Shift1_Q154]
1. 1 [Option ID = 613]
2. 2 [Option ID = 614]
3. 3 [Option ID = 615]



4. 4 [Option ID = 616]

') The renewable source of energy from the following is :

(I) Biomass (2) Coal (3) Petroleum (4) Kerosene
frefafea 9 & s o1 Fefteria =i *
(1) = (2) ®HFem  (3) UeEH (4) HOEH

[Question ID = 155][Question Description = 255_CA1_21Dec_Set1_Shift1_Q155]
1. 1 [Option ID = 617]
2. 2 [Option ID = 618]
3. 3 [Option ID = 619]
4. 4 [Option ID = 620]

12)

Gangotri National Park is located in :

(1) Chbhattisgarh (2) Bihar (3) Uttarakhand  (4) West Bengal
TG T S SfefieT ®

(1) BT (2) fa=r (3) THEES (4) =" §TE

[Question ID = 156][Question Description = 256_CA1_21Dec_Set1_Shift1_Q156]
1. 1 [Option ID = 621]
2. 2 [Option ID = 622]
3. 3 [Option ID = 623]
4. 4 [Option ID = 624]

13)

Which city was adjudged the cleanest city for four consecutive years by the Swachh
Survekshan report ?

(1) Ujjain (2) Indore (3) Mysore (4) Rajkot

s Taer e gR1 oar =R auf deh fopd 918t &l ey To=s vl uifyd femar o a1 ?

(1) SsH 2) ¥R (3) H (4) TSR

[Question ID = 157][Question Description = 257_CA1_21Dec_Set1_Shift1_Q157]
1. 1 [Option ID = 625]
2. 2 [Option ID = 626]
3. 3 [Option ID = 627]
4. 4 [Option ID = 628]

14)
Hindon Airport is located at :

(1) NOIDA (2) Ghaziabad (3) Moradabad (4) Gazipur
f&S7 7o o731 sTafiem ¥ -

(1) Her (2) i (3) TIRHER (4) TSR

[Question ID = 158][Question Description = 258_CA1_21Dec_Set1_Shift1_Q158]
1. 3 [Option ID = 631]
2. 4 [Option ID = 632]
3. 2 [Option ID = 630]
4. 1 [Option ID = 629]

Topic:- CA_GEOG_21DEC_S1



D Which state of India has largest forest area ?

(I) Arunachal Pradesh (2) Madhya Pradesh
(3) Odisha (4) Chhattisgarh
e & foe U590 & 9 Je9H 99 &9 &2

(1) 3TEmSd Ue¥ (2) T U

(3) e (4) SR

[Question ID = 159][Question Description = 259_CA1_21Dec_Set1_Shift1_Q159]
1. 1 [Option ID = 633]
2. 2 [Option ID = 634]
3. 3 [Option ID = 635]
4. 4 [Option ID = 636]

2) Andaman and Nicobar islands are a group of about islands.
(1) 210 (2) 572 (3) 100 (4)
$TeAM 3R feER §ru-Tqg T SI91 1 T T8 ¢ |
(1) 210 (2) 572 (3) 100 (4)

[Question ID = 160][Question Description = 260_CA1_21Dec_Set1_Shift1_Q160]
1. 1 [Option ID = 637]
2. 2 [Option ID = 638]
3. 3 [Option ID = 639]
4. 4 [Option ID = 640]

3) Tropical rain forest are not found in ,
(I) Russia (2) South America

(3) South East Asia (4) India
ST Fufa ER RIS NI
(1) &4 (2) <fam st

(3) <faur 9o ufvrn (4) R4

[Question ID = 161][Question Description = 261_CA1_21Dec_Set1_Shift1_Q161]
1. 1 [Option ID = 641]
2. 2 [Option ID = 642]
3. 3 [Option ID = 643]
4. 4 [Option ID = 644]

4 In the recent times which is the most exported goods from India to USA ?

(1) Leather goods (2) Cereals
(3)  Fruits (4) Timber
WA H USA i Hodl 511 fifaa g A i & 2

(1) =HS H HEH (2) ST
(3) ' (4) @S

[Question ID = 162][Question Description = 262_CA1_21Dec_Set1_Shift1_Q162]
1. 1 [Option ID = 645]
2. 2 [Option ID = 646]
3. 3 [Option ID = 647]

36

36



4. 4 [Option ID = 648]

5)

River Nile flows through :

(1) Jordan (2) Iraq (3) Libya
e e Y BrhL el €

(1) ired 2) 3k (3) witfera

[Question ID = 163][Question Description = 263_CA1_21Dec_Set1_Shift1_Q163]
1. 1 [Option ID = 649]
2. 2 [Option ID = 650]
3. 3 [Option ID = 651]
4. 4 [Option ID = 652]

6) The Equator does not pass through which of the following countries ?

(1) Indonesia (2) Kenya (3) Mexico
s, Frefafes § 9 f5a 0 9 S =@ et 72
(1) Eemfen (2) wifF (3) Hfergeni

[Question ID = 164][Question Description = 264_CA1_21Dec_Set1_Shift1_Q164]
1. 1 [Option ID = 653]
2. 2 [Option ID = 654]
3. 3 [Option ID = 655]
4. 4 [Option ID = 656]

7)

Afghanistan does not share a border with :

(1) Turkmenistan (2) China (3) Iran
STEEA o H19 79T HIE HE A& R g

(1) qeRHE (2) = 3) T

[Question ID = 165][Question Description = 265_CA1_21Dec_Set1_Shift1_Q165]
1. 1 [Option ID = 657]
2. 2 [Option ID = 658]
3. 3 [Option ID = 659]
4. 4 [Option ID = 660]

8;\laska is a constituent state of :

(1) China (2) Canada (3) USA
AR Huesw A faras T 2

(1) == (2) hHTEl (3) USA

[Question ID = 166][Question Description = 266_CA1_21Dec_Set1_Shift1_Q166]
1. 1 [Option ID = 661]
2. 2 [Option ID = 662]
3. 3 [Option ID = 663]
4. 4 [Option ID = 664]

9)

(4)

(4)

Egypt

sfore (foe)

Brazil

ElEC]

Russia

(4) Russia

4) w4



El Nino climate pattern occurs due to unusual warming of surface waters in :

(1) Indian Ocean (2) Atlantic Ocean

(3) Pacific Ocean (4) Arctic Ocean

T A1 (El Nino) Sferarg wfaams % TSI e T M q § T & S F RO
Hied QA |

(1) &= memrr (2) SeAiEH HEHERR

(3)  W¥lid HETHIR (4) 3ehfesh HEENR

[Question ID = 167][Question Description = 267_CA1_21Dec_Set1_Shift1_Q167]
1. 1 [Option ID = 665]
2. 2 [Option ID = 666]
3. 3 [Option ID = 667]
4. 4 [Option ID = 668]

10)  Which is the most abundant mineral in the earth’s crust ?

(I) Iron (2) Quartz (3) Aluminium (4) Mica
Frefafes § 9 wF-m @i y-adet | g § urn 5§ 2
(1) = (2) TwiEH (3) weHIfHfTEE (4) HAYH

[Question ID = 168][Question Description = 268_CA1_21Dec_Set1_Shift1_Q168]
1. 1 [Option ID = 669]
2. 2 [Option ID = 670]
3. 3 [Option ID = 671]
4. 4 [Option ID = 672]

11)
Lithosphere consists of :

(1) Core and Lower Mantle (2) Inner and Outer Core
(3) Crust and Upper most solid mantle (4) Crust and adjacent part of atmosphere

TA-HUEH q o g3 B
(1) @R 3R = yar (2) AR SR =M HR
(3) TS IR wEl= ™ waTe (4) TUSI qUT AHUSH H1 ARSad| W

[Question ID = 169][Question Description = 269_CA1_21Dec_Set1_Shift1_Q169]
1. 1 [Option ID = 673]
2. 2 [Option ID = 674]
3. 3 [Option ID = 675]
4. 4 [Option ID = 676]

12)

The solar system is part of the galaxy :

(1) Sombrero (2) Milky way (3)  Whirlpool (4) Andromeda
R-ufEr Tetert 1 9T 2 |

(1) Hiws (2)  STERTA T (3) e 4) Tgmel

[Question ID = 170][Question Description = 270_CA1_21Dec_Set1_Shift1_Q170]
1. 1 [Option ID = 677]
2. 2 [Option ID = 678]
3. 3 [Option ID = 679]



4. 4 [Option ID = 680]

13) Bannerghatta National Park is located in which State ?

(1) Karnataka (2) Madhya Pradesh
(3) West Bengal (4) Odisha

rECEg] A9 Uk forg T H stafied €7

(1) #Ale® (2) HEAYRY

(3) I S (4) S

[Question ID = 171][Question Description = 271_CA1_21Dec_Set1_Shift1_Q171]
1. 1 [Option ID = 681]
2. 2 [Option ID = 682]
3. 3 [Option ID = 683]
4. 4 [Option ID = 684]

14)

Which of the following is on the East coast of India ?

(1) Ennore (2) Marmagao (3) Kandla
frefafad § § &M 9 & gt 98 @ W2

(1) IR (2) HARAFTS (3) =l

[Question ID = 172][Question Description = 272_CA1_21Dec_Set1_Shift1_Q172]
1. 1 [Option ID = 685]
2. 2 [Option ID = 686]
3. 3 [Option ID = 687]
4. 4 [Option ID = 688]

Topic:- CA_UP_21DEC_S1

1

”E)Nhere was 13t BRICS Summit held ?

(1) India (2) St Petersburg (3) Brasilia  (4)
13 df BRICS THei ®el 3TEiferd gai ?

(1) wRd (2) H2 dreHer (3) S (4)

[Question ID = 173][Question Description = 273_CA1_21Dec_Set1_Shift1_Q173]
1. 1 [Option ID = 689]
2. 2 [Option ID = 690]
3. 3 [Option ID = 691]
4. 4 [Option ID = 692]

2) Mapping of land/properties in villages in India is an objective of :

(1) SATHI scheme (2) Swamitva scheme

(3) NISHTHA scheme (4) SWANIDHI scheme
e 1 Tt T S/ il &1 g, F1 UF AT T
(1) SATHI Fisl (2) Swamitva FSHl

(3) NISHTHA 3rsH1 (4) SWANIDHI FS1

[Question ID = 174][Question Description = 274_CA1_21Dec_Set1_Shift1_Q174]

(4) Navasheva

(4) el

Cape Town

FYq A



1 [Option ID = 693]
2 [Option ID = 694]
3 [Option ID = 695]
4 [Option ID = 696]

AN wnN =

3) SVAYEM is a flagship program of which Indian State ?

(1) Assam (2) Arunachal Pradesh
(3) Uttar Pradesh (4) Haryana

SVAYEM ¥Rd & fT T &1 T Fallecpte die &2

(1) =799 (2) STEUTEA HeWl

(3) S A (4) fEmm

[Question ID = 175][Question Description = 275_CA1_21Dec_Set1_Shift1_Q175]

1. 1 [Option ID = 697]

2. 2 [Option ID = 698]

3. 3 [Option ID = 699]

4. 4 [Option ID = 700]

4)
Name the Indian American astronaut who was one of the crew members on the Virgin
Galactic Flight in 2021.

(1) Sirisha Bandla (2) Swati Mohan

(3) Chamath Palihapitiya (4) Sunita Williams

Y R~ SR S{afte ani %1 W Sa 2021 o, 9 feifas woige % wHed & gewi §
q Tk 9l

(1) Tedien sreen (2) Fafd Hied
(3) =Y Yefrarfafaan (4) YA fafesms

[Question ID = 176][Question Description = 276_CA1_21Dec_Set1_Shift1_Q176]
1. 1 [Option ID = 701]
2. 2 [Option ID = 702]
3. 3 [Option ID = 703]
4. 4 [Option ID = 704]

®) Name the new Union Ministry set up in the cabinet reshuffle of July 7 2021 ?
(1) Ministry of Common Good (2) Ministry of Goodwill
(3) Ministry of Corporate Affairs (4) Ministry of Cooperation
7 9eE 2021 F HHed Redd | Mfed gu U S HAer # AW o4
(1) 9= fed Harer (2) HeWE Herd
(3) HRUNE HABH HAAA (4) HEHRIA HAeTd
[Question ID = 177][Question Description = 277_CA1_21Dec_Set1_Shift1_Q177]
1. 1 [Option ID = 705]
2. 2 [Option ID = 706]

3. 3 [Option ID = 707]
4. 4 [Option ID = 708]

6)



Name the first cyclonic storm of 2021 that emerged from the Arabian Sea :

(1) Tauktae (2) Yaas (3) Nisarga (4) Amphan
2021 % 39 UgY FhATd! JHH 1 AT AT Sl fF IR TR F IS T o
(1) e 2) IH™ (3) T (4) SATRM

[Question ID = 178][Question Description = 278_CA1_21Dec_Set1_Shift1_Q178]
1. 1 [Option ID = 709]
2. 2 [Option ID = 710]
3. 3 [Option ID = 711]
4. 4 [Option ID = 712]

7)
What is the nationality of the Tennis player who won the Wimbledon 2021 Boys’ Singles
title 7

(1) Indian (2) American (3) Australian (4) Spaniard
39 f1m faeret &t aiE sand foem famaere 2021 % U arereh ot <1 fgdre sitar o ¢
(1) W™ (2) ST (3) SA=faaa (4) EAT

[Question ID = 179][Question Description = 279_CA1_21Dec_Set1_Shift1_Q179]
1. 1 [Option ID = 713]
2. 2 [Option ID = 714]
3. 3 [Option ID = 715]
4. 4 [Option ID = 716]

8) Name the company which developed India’s first COVID-19 Vaccine ?

(1) Panecea Biotech (2) Serum Institute of India

(3) Bharat Biotech (4) Zydus Cadila

3G FHEHT I A T S MRA 1 98l COVID-19 afe faenfaa feran o
(1) ST e (2) Taea sfheae siw sfea

(3) YRd SEICH (4) STFSH Hfea

[Question ID = 180][Question Description = 280_CA1_21Dec_Set1_Shift1_Q180]
1. 1 [Option ID = 717]
2. 2 [Option ID = 718]
3. 3 [Option ID = 719]
4. 4 [Option ID = 720]

9)
In which of the following cities Indo-South Korean friendship park was constructed ?
(1) Seoul (2) Mumbai (3) Busan (4) New Delhi

frfafea d @ fog et & ara-<fao wifEe 85 uieh o fmto fem mn o ?
(1) fasia 2) [ (3) FEH (4) 8 T

[Question ID = 181][Question Description = 281_CA1_21Dec_Set1_Shift1_Q181]
1. 1 [Option ID = 721]
2. 2 [Option ID = 722]
3. 3 [Option ID = 723]
4. 4 [Option ID = 724]



109 Which edition of the summer Olympics was held in Tokyo in 2021 ?

(1) 32 2) 31 (3) 30 4) 29
2ferat 2021 H, WedepTeds sfeifuer a1 SH-a1 Terto sEifsa foman man on ?
(1) 32 2) 31 (3) 30 4) 29

[Question ID = 182][Question Description = 282_CA1_21Dec_Set1_Shift1_Q182]
1. 1 [Option ID = 725]
2. 2 [Option ID = 726]
3. 3 [Option ID = 727]
4. 4 [Option ID = 728]

") Who among the following has not won 20t Grand slam titles in singles in 2021 ?
(1) Rafael Nadal (2) Pete Sampras
(3) Novak Djokovic (4) Roger Federer

Frefafes § 9 feem et 2021 ® 20 § e wW 1 faae & Siar o1 ?
(1) THa TS (2) W Hmm
(3) TR Sk (4) TSR HEW

[Question ID = 183][Question Description = 283_CA1_21Dec_Set1_Shift1_Q183]
1. 1 [Option ID = 729]
2. 2 [Option ID = 730]
3. 3 [Option ID = 731]
4. 4 [Option ID = 732]

12)

Which Asian country has been certified Malaria free by WHO in 2021 ?

(1) Bhutan (2) Malaysia (3) China (4) Myanmar
2021 ¥, WHO g1 form ufemn <o =1 wetfean-gaa wenfor feman o &2

(1) W™ (2) weferEn (3) = (4) THER

[Question ID = 184][Question Description = 284_CA1_21Dec_Set1_Shift1_Q184]
1. 1 [Option ID = 733]
2. 2 [Option ID = 734]
3. 3 [Option ID = 735]
4. 4 [Option ID = 736]

1;;’1‘&(:}1 country won the Copa America 2021 Trophy ?

(1) Columbia (2) Peru (3) Brazil (4) Argentina
forg <91 A a1 oTAfER 2021 ZH Sitdl off ?

(1) =hIc=ma 2) & (3) wufse (4)  SASife

[Question ID = 185][Question Description = 285_CA1_21Dec_Set1_Shift1_Q185]
1. 1 [Option ID = 737]
2. 2 [Option ID = 738]
3. 3 [Option ID = 739]
4. 4 [Option ID = 740]

14)



Which of the following is not a vaccine for corona virus ?

(1) Remdisivir (2) Astra Zeneca (3) Coronavac (4) Sputnik V
frefafed § § wm-o1 afer | sy F foo & 8 2
(1) Hfefafay (2) wE SR (3) IAEH (4) TgafeR =t

[Question ID = 186][Question Description = 286_CA1_21Dec_Set1_Shift1_Q186]
1. 1 [Option ID = 741]
2. 2 [Option ID = 742]
3. 3 [Option ID = 743]
4. 4 [Option ID = 744]

Topic:- CA_CA_21DEC_S1

1)

Uttar Pradesh’s Population (Control, Stabilization and Welfare) Bill, 2021 is a part of the
State’s Population Policy of :

(1) 2020 - 2031 (2) 2021 - 2030 (3) 2021 - 2031 (4) 2020 - 2030

I YR sHgE (freEm, ferdiso qu s faa, 2021, & T SEE Hifd
Tk AR & |

(1) 2020 - 2031 (2) 2021 - 2030 (3) 2021 - 2031 (4) 2020 - 2030

[Question ID = 187][Question Description = 287_CA1_21Dec_Set1_Shift1_Q187]
1. 1 [Option ID = 745]
2. 2 [Option ID = 746]
3. 3 [Option ID = 747]
4. 4 [Option ID = 748]

2) As per census 2011, the sex ratio in Uttar Pradesh is :

(1) 908 (2) 923 (3) 953 (4) 899
2011 I SO % 98, S U9 H Fo fAn e gl
(1) 908 (2) 923 (3) 953 (4) 899

[Question ID = 188][Question Description = 288_CA1_21Dec_Set1_Shift1_Q188]
1. 1 [Option ID = 749]
2. 2 [Option ID = 750]
3. 3 [Option ID = 751]
4. 4 [Option ID = 752]



3) In Uttar Pradesh each Gram Shiksha Samiti consists of :
)  Gram Pradhan, 3 Members, 1 Headmaster
(2) Education officer, 2 Members, 1 Headmaster
) Gram Pradhan, 2 Members, 1 Headmaster
(4) Education officer, 3 Members, 1 Headmaster
I WS T gk U fosn wfufa § wnfoe 2
(1) UM 949, 3 98, 1 JHHTATHR
(2) Toren sAfeeRrl, 2 9%, 1 THMEANYS
(3) UM UM, 2 &, 1 THIATIH
(4) e Afue, 3 9S24, 1 99FEATSH
[Question ID = 189][Question Description = 289_CA1_21Dec_Set1_Shift1_Q189]
1. 1 [Option ID = 753]
2. 2 [Option ID = 754]

3. 3 [Option ID = 755]
4. 4 [Option ID = 756]

4 Which among the following is a popular folk song of Uttar Pradesh ?

(1) Maang (2) Kajri (3) Bol (4) Boli
frefafad 9 9 ST 9<9 %1 gufHs dia ¢
(1) ®m (2) (3) i (4) St

[Question ID = 190][Question Description = 290_CA1_21Dec_Set1_Shift1_Q190]
1. 1 [Option ID = 757]
2. 2 [Option ID = 758]
3. 3 [Option ID = 759]
4. 4 [Option ID = 760]

) How many IITs are located in Uttar Pradesh ?

1) 3 (2) 4 (3) 2 (4) 1
T Y H forad ITs ® 2
1) 3 2) 4 (3) 2 4) 1

[Question ID = 191][Question Description = 291_CA1_21Dec_Set1_Shift1_Q191]
1. 1 [Option ID = 761]
2. 2 [Option ID = 762]
3. 3 [Option ID = 763]
4. 4 [Option ID = 764]

6)
In which of the following cities of Uttar Pradesh, foundation stone of Vindhyanchal Corridor
Project has been laid down ?

(1) Barabanki (2) Gautam Budh Nagar (3) Amethi (4) Mirzapur
I wew & Frefafea § § e et d fomaa wriEr s ot o wt w22
(1) skl (2) aH g5 TR (3) Wl (4) Tosigy

[Question ID = 192][Question Description = 292_CA1_21Dec_Set1_Shift1_Q192]
1. 1 [Option ID = 765]



2. 2 [Option ID = 766]
3. 3 [Option ID = 767]
4. 4 [Option ID = 768]

7)

‘Kalanamak” festival was held in March 2021, in the Sidharth Nagar district of
Uttar Pradesh.

(1) wheat (2) grapes (3) rice (4) salt

Hrd 2021 H I Yo o fHgred R foer § e IoHE F HESH g3 |

(1) & (2) SR (3) =rEd (4) THE

[Question ID = 193][Question Description = 293_CA1_21Dec_Set1_Shift1_Q193]
1. 1 [Option ID = 769]
2. 2 [Option ID = 770]
3. 3 [Option ID = 771]
4. 4 [Option ID = 772]

8) In which year was the United Provinces renamed as Uttar Pradesh ?

(1) 1947 (2) 1950 (3) 1954 (4) 1960
fora o, W i o1 A0 SEeieht I Yo AT 412
(1) 1947 (2) 1950 (3) 1954 (4) 1960

[Question ID = 194][Question Description = 294_CA1_21Dec_Set1_Shift1_Q194]
1. 1 [Option ID = 773]
2. 2 [Option ID = 774]
3. 3 [Option ID = 775]
4. 4 [Option ID = 776]

%) With reference to area, which is the largest district of Uttar Pradesh ?

(1) Lakhimpur Kheri (2) Sonbhadra

(3) Prayagraj (4) Shahjahanpur
oy | &me & gfesr 4, ST ey &1 gad g1 fsfen swiA-= 82
(1) «fErg @l (2) G

(3) WATH (4) VSRR

[Question ID = 195][Question Description = 295_CA1_21Dec_Set1_Shift1_Q195]
1. 1 [Option ID = 777]
2. 2 [Option ID = 778]
3. 3 [Option ID = 779]
4. 4 [Option ID = 780]

10)



In September 2021, PMMV week programme was organised in Amethi. What does PMMV
stands for ?

(1) Pradhan Mantri Matru Vandana

(2) Pradhan Mantri Marg Vikas

(3) Pradhan Mantri Madhyamik Vidyalaya
(4) Pradhan Mantri Mahila Vikas

faarsr 2021, # 82T § PMMV UWE o1 STEISH R =11 PMMV &1 90 &9 ¢ :
(1) Pradhan Mantri Matru Vandana

(2) Pradhan Mantri Marg Vikas

(3) Pradhan Mantri Madhyamik Vidyalaya

(4) Pradhan Mantri Mahila Vikas

[Question ID = 196][Question Description = 296_CA1_21Dec_Set1_Shift1_Q196]
1. 1 [Option ID = 781]
2. 2 [Option ID = 782]
3. 3 [Option ID = 783]
4. 4 [Option ID = 784]

) Which of the following is not a schedule tribe of Uttar Pradesh ?

(1) Gond (2) Tangkhul (3) Tharu (4) Bhil
frefafes § 3 #F STRuey #i Agfad SHea & ¢ 2
(1) s (2) dmga (3) (4) @

[Question ID = 197][Question Description = 297_CA1_21Dec_Set1_Shift1_Q197]
1. 1 [Option ID = 785]
2. 2 [Option ID = 786]
3. 3 [Option ID = 787]
4. 4 [Option ID = 788]

12)

Jagadguru Rambhdracharya Divganga University, the only university for the disabled is
located in which district ?

(1) Jhansi (2) Etah (3) Bijnor (4) Chitrakoot
feeiTsHi st ek w1 et e tnyarE fearm gHarael, feg e 9 sraftem 22
(1) (2 T (3) fasrR (4) foge

[Question ID = 198][Question Description = 298_CA1_21Dec_Set1_Shift1_Q198]
1. 1 [Option ID = 789]
2. 2 [Option ID = 790]
3. 3 [Option ID = 791]
4. 4 [Option ID = 792]

13) Total number of districts in Uttar Pradesh is :

(1) 62 2) 68 3) 72 @) 75
IR yew H 5l &t Fa g&n g1
(1) 62 2) 68 (3) 72 4) 75

[Question ID = 199][Question Description = 299_CA1_21Dec_Set1_Shift1_Q199]
1. 1 [Option ID = 793]



2. 2 [Option ID = 794]
3. 3 [Option ID = 795]
4. 4 [Option ID = 796]

14 Who was the first Chief Minister of Uttar Pradesh ?

(1) Smt. Sucheta Kriplani (2) Ch. Choran Singh

(3) Sh. Govind Ballabh Pant (4) Sh. Chandra Bhanu Gupta
I USH ok Teet JEAHA! HiF 9 ?

(1) St g Haer (2) et =wo fHe

(3) 4. e seery g (4) & Hgvr T

[Question ID = 200][Question Description = 300_CA1_21Dec_Set1_Shift1_Q200]
1. 1 [Option ID = 797]
2. 2 [Option ID = 798]
3. 3 [Option ID = 799]
4. 4 [Option ID = 800]






